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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

All questions are divided into sections A and B.
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SECTION-A
W A

Show, using IS and LM curves, why money has no
effect on output in the classical view.
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What is the liquidity trap? Explain.
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3. Explain the concepts of wage setting relation and

price setting relation. (Equations and Diagrams are

required)
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4. Derive the equation of aggregat¢ supply relation. Draw

the graph of aggregate supply relation.
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Explain the concept of the neutrality of money.
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6. What are the poliC).' implications of Phillips curve.

'Wwﬁﬁﬁaﬁw%?

7. What is the link between the real exchange rate and
net exports? :
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SECTION -B
@E &

ffect? Can crowding out

What is the crowding out €

be avoided?
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Suppose you have the following information about a

(wo-sector closed economy -
C=2200+0.75Y
[=1300—24i

L=0.25Y - 151

M/P =3110

Drive the equation of IS and LM curves and find
out the cquilibrium values of income and rate of

interest.
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3. (i) Derive the aggregate de
help of IS-LM framework.

IS-LMzﬁa&m%WﬂWﬁWW '
yected price.

(i) How do changes over time in €Xp
level (P°) affect the equilibrium in the short

run?

4. How does an increase in unemployment beﬁefits lead
to an increase in the natural rate of uncmplo‘ymem?
(Diagram is required) ' .
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5. Derive the long run Phjljj
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6. What are the items to be included in the balance of
payment of a country? Explain.
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7. What are the two main t.ypes of exchange rate

systems? Explain.
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